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Chapter 1

1. Graph each number on a number line.
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2. What properties of real numbers are used in each step of the following simplification?

St o)l =345 o a.

=[5+ (-5] +x b.

Simplify.
3 2~7+3 4. —3|-5+9|
Evaluate each expression for the given value of the variable.

S0 =2) +{y +1)
5. 32 — 5+ 7;r =73 - 2y + 1 V= —

Simplify by combining like terms.
7. 2 + 3y — 42 + y 8. 3(a + 5b) — %(2b — a)

9. The expression 21.95 + 0.15x models the daily cost of renting a car. In
the expression. x represents the number of miles the car is driven. Find
the cost of renting a car for a day when the car is driven 100 miles.

Solve each equation.

10. 3m — 15 = 2m — 19 11. 4h + 49 = Th — 1.7
12. 4(3p — 2) =28 13. 3(51.: + %) — =7
14 564 +13=3+7 15.2(x—%)=3(x+%->+81—1

Solve each equation for x. State any restrictions on the variables.

16. X2 + x = b _ 17. 2y = 2= 3y
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Chapter 1

Solve each formula for the indicated variable.
18. x3 = (1 — p)x1 + pxp, for x; 19. V = m?h + r*h, for h
Write an equation to solve each problem.

20. The sides of a triangle are in the ratio 3 : 4 : 6. What is the length of
each side if the perimeter is 104 cm?

21. Two brothers are saving money to buy a new game system. Their
combined savings is $85. One brother has $22 more than the other.
How much has each brother saved?

Solve each inequality. Graph the solutions.

2 25 ~1 23, &= 3¢ =10
24, 5k—@—4k><7(k+%) 25 Y+ 3=3y—5

Solve each compound inequality. Graph the solutions.

26. 2x — 3 < —S5o0r3x - 10 >x 27. -2t = 10and -3t > —6
28, -4 =3-2x=14 29. 3<2x—3<5

Solve each equation. Check for extraneous solutions.

30. [2x—9 =1 31. |2y + 5| = 3y

Solve each inequality. Graph the solutions.

32. |4z -3|=5 33. 6|5x — 2| - 1< 17

34. The temperature 7 of a body of water is at least 59°F and at most 73°F.
Write an absolute value inequality and a compound inequality for the
temperature of the water.

Suppose a number is chosen at random from the sample space {3, 4, 5, 6, 7}.
Find each probability.

35. P(less than 3) 36. P(even)
37. For the last 80 orders processed, 56 customers paid by credit card and 24

paid by check. What is the experimental probability that the next
customer will pay by credit card?
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